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public class FourPhaseTest { assertThat(actual,is(expected)); @RunWith(Enclosed.class) @RunWith(Theories.class)
@Test public class EnclosedTest { public class ParameteriedTest {
public void testCase() fail ("= public static class XXDHE { @DataPoints
throws Exception { ' @Before public static int[] PARAMS
Calc sut = new Calc(); CoreMatchers ¥ @Tgtleqry id (i ) {
int expected = 7; . = @Test public void test(int Xx
/] 2. 7ARDET is equalsic & % L public void testCase() { y ¥
/19t3a‘)i,t_|‘;_a_l;;;1t'add(3' 4); || nuiivalue null } ’ e ———
: — public static class YYDBE { —— —
assertThat(actual, not MatcherO&EE @Before HAFTVETRE
/4. s Rram [ rounane |3 pubLLc votd settpl) £ |fecmtego et o2 et <
sut.shutdown(); samelnstance |ﬁ_|—/r ‘/19 R @Test @Test
1 public void testCase() { @Category(SlowTests.class)
1 instanceOf pid} } public void testCase() {
} +
FIHEHDT X b 1 itMatchers } ¥
T
@Test(expected=Exception.class) hasltem EE ; I T
public void testCase() { = mockito EMBLEY 7/2Y T
+ hasltems Z2R (BY @Test

public void ED{E%#ERT XY 7 () throws Exception {

L= List<String> stub = mock(List.class);

when(stub.get(0)).thenReturn("Hello");

TemporaryFolder —&7 71 assertThat(stub.get(0), is("Hello"));
}

ExternalResource | #Z8)Y —X

@Test(timeout=1000L)
public void testCase() {
+

o et @Test(expected = IndexOutOfBoundsException.class)
Verifier SERIRGE public void BIA%EXHT 2R 7 () throws Exception {

ErrorCollector IS—DUVE List<String> stub = mock(List.class);

@Test TANT—X

when(stub.get(0)).thenThrow(new IndexOutOfBoundsException());
@Ignore FZ N DEFERS ExpectedException | 5/ DHREE , stub.get(0);
@Before FEAE Timeout TALT TN et
@After Y UBE TestWatcher TADER public void EvYVICLBMRIE() throws Exception {

TestName FAR—2 4 ;;(s:ti‘{ggrr\g(;?;mock = mock(List.class);

public class RuleTest { mock.add("JUnit");

@BeforeClass | #1H#A{t /07 T A&

@AfterClass | #IE/ DV S X&E @Rule mock.add("JUnit");
) — — ublic TestName testName verify(mock).clear();
@RunWith TANZVF— P = new TestName(); verify(mock, times(2)).add("JUnit");
verify(mock, never()).add("mockito");
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